VENDOR

College Station, TX 77843-1477 **PURCHASE ORDER**

05/15/2018

COLLEGE STATION TX 77842

TX A&M ENGINEERING EXTEN SRVC

TX A&M ENGINEERING EXTEN SRVC

3100 RIVERSIDE PKWY BLDG 7240

TEEX DIGITAL PRINTING SERVICES

TEEX DIGITAL PRINTING SERVICES

Invoice To:

RELLIS

PO BOX 40006

BRYAN TX 77803

Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE

APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR

P890081

59

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Ship To:

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

Vendor: *****4000 WORKPLACE RESOURCE 1717 W 6TH ST STE 190 AUSTIN, 78203

ITEM DESCRIPTION QUANTITY UOM UNIT PRICE EXTENDED PRICE USER REF: 300000-0175 FURNISH AND INSTALL AS PER NIPA CONTRACT #P15-150, NIPA CONTRACT #2015000063, NCPA CONTRACT #07-26, WORKPLACE RESOURCE QUOTE (ATTACHED) AND INSTALLATION TERMS AND CONDITIONS. NAICS CODE: 337214; SIZE STANDARD: 1,000 EMPLOYEES TEEX REFERENCE: T30-0000175 **DEPARTMENT CONTACT:** DEREK SEIM 979-845-1048 VENDOR CONTACT: FRED RODRIGUEZ 512-799-2132 FRED.RODRIGUEZ@WRSTX.COM All-Flex 2 Leg, Leg, 3 stage, HT, ADJ for 36" - 72" WS. Digital keypad & ADJ feet for 24" - 30" deep WS. Silver 2 EA 730.080 1,460.16 FLEX2-SLV EA 307.680 307.68 2 Edge Dual Monitor Arm, weight capacity 1 6.5 - 17.6 lbs per arm w/desk clamp & grommet mount, silver EDGE2-SLV PAW

TO SHIPPING.

FOB: DESTINATION FRT INCLUDED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State increater, without giving acceptance reasons for delay, or a supplies can rejected to failure to meet spectmations, he state reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement Services.

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

30

IN ACCORDANCE WITH YOUR BID. SUPPLIES/EOUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent. 06/04/2018

Purchasing Agent for TEXAS A&M ENGINEERING EXTENSION SERVICE Phone: 979-845-4570

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

Order Date: 05/15/2018

Page:

INCLUDE P.O. NUMBER ON ALL. CORRESPONDENCE AND PACKAGES P890081 59

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor: *****4000 WORKPLACE RESOURCE 1717 W 6TH ST STE 190 AUSTIN, 78203

Invoice To:

TX A&M ENGINEERING EXTEN SRVC TEEX DIGITAL PRINTING SERVICES PO BOX 40006 COLLEGE STATION TX 77842

Ship To:

TX A&M ENGINEERING EXTEN SRVC TEEX DIGITAL PRINTING SERVICES RELLITS 3100 RIVERSIDE PKWY BLDG 7240 BRYAN TX 77803

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM-	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
3	All Flex 3 Leg, 3 Stage, HT. ADJ for 36"-72" WS. Digital keypad & ADJ feet for 24" - 30" deep WS, Silver	3	EA	1,103.520	3,310.56
	FLEX3-SLV				
4	Space Co Pelican 1 Drawer Back	4	EA	0.000	0.00
	PD0011-NFR-NLD				
5	Cramer Fusion Mid Stool Armless 2 way Adj Mechanism	8	EA	418.190	3,345.52
	FSMM2				
6	Cramer Fusion Round Stool - Foot Activated Hgt. Adjustment	3	EA	342.730	1,028.19
	RSDG1				
7	Reno, Slim 3 Seat Lounge, Armless, Metal Legs	1	EA	1,272.670	1,272.67
	N32SMLLM				
8	Reno, 1 Seat Lounge, Metal Legs	2	EA	853.250	1,706.50
	N32AAM				
9	Epicenter, 12W x 28H, Support Base, Platinum Metallic	1	EA	146.400	146.40
	26N1228DVOBS				
10	Exhibit, Mounting Bracket	16	EA	4.800	76.80
	11NBRS				
PAW					
				Terms:	

FOB: DESTINATION FRT INCLUDED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement Services.

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

30 N

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent, $06 / 04 / 2018\,$

VENDOR

Vendor:

AUSTIN,

*****4000

College Station, TX 77843-1477

Order Date: 05/15/2018

PURCHASE ORDER

Page:

03

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

WORKPLACE RESOURCE

1717 W 6TH ST STE 190

78203

P890081

59

VENDOR GUARANTEES MERCHANDISE. DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Ship To:

TX A&M ENGINEERING EXTEN SRVC TEEX DIGITAL PRINTING SERVICES

PO BOX 40006

Invoice To:

RELLIS 3100 RIVERSIDE PKWY BLDG 7240

TX A&M ENGINEERING EXTEN SRVC

COLLEGE STATION TX 77842

TEEX DIGITAL PRINTING SERVICES

BRYAN TX 77803

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM_	UNIT PRICE	EXTENDED PRICE
11	Exhibit, 144W Extrusion w/Faceplate, Set of 2	3	EA	146.000	438.00
	11N144EXFP2				
12	Exhibit, 72W Extrusion w/Faceplate, Set of 2	2	EA	102.000	204.00
	11N72EXFP2				
13	Accessories, 48W \times 12H, Modesty Panel, Resin	1	EA	192.800	192.80
	NAC4812MPA				
14	Accessories, 68 15/16W x 19 1/16H, Tackboard, Railroad	3	EA	175.200	525.60
	NAC6919TBRA				
15	Waveworks, 23D x 30W x 29H, Pedestal, Bookcase, Undersurface, LAM	3	EA	266.800	800.40
	WW233029PUOSL				
16	Waveworks, 72W x 38H, Highback Organizer, Full Back, Glass/LAM	1	EA	1,122.800	1,122.80
	WW7238HBH2GL				
17	Exhibit, 48W x 36H Tackboard	6	EA	119.600	717.60
	11N4836TB				
18	Waveworks, 17D x 28H, End Panel, Laminate	1	EA	88.800	88.80
PAW					
				Towns	

FOB: DESTINATION FRT INCLUDED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER -- If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent. 06/04/2018

VENDOR

Vendor: ******4000

AUSTIN,

College Station, TX 77843-1477

PURCHASE ORDER

Order Date: 05/15/2018

Page: 04

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

WORKPLACE RESOURCE

1717 W 6TH ST STE 190

78203

P890081

59

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Ship To:

Invoice To:

PO BOX 40006

TX A&M ENGINEERING EXTEN SRVC TEEX DIGITAL PRINTING SERVICES RELLIS 3100 RIVERSIDE PKWY BLDG 7240

TX A&M ENGINEERING EXTEN SRVC

COLLEGE STATION TX 77842

TEEX DIGITAL PRINTING SERVICES

3100 RIVERSIDE PKWY BLDG 7240 BRYAN TX 77803

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES <u>PRIOR</u> TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	WW1728EPL				
19	Waveworks, 18W x 68H, Wardrobe, Storage Right, Glass, Laminate	1	EA	791.200	791.20
	WW1868VSWHRGL				
20	Waveworks, 48W x 18H, Storage Overhead, Exhibit Mount, Class/LAM	2	EA	440.400	880.80
	WW4818SOHTGL				
21	Myriad, 24D x 24W, End Table, Cylinder, Round, Laminate	1	EA	250.800	250.80
	91NA2424CYL				
22	Accessories, 60W x 12H, Modesty Panel, Resin	2	EA	358.400	716.80
	NAC6012MPA				
23	Exhibit, 36W x 36H Tack Board	4	EA	112.800	451.20
	11N3636TB				
24	Myriad, 24D x 48W, Magazine Table, Cube, Rectangle, Laminate	2	EA	345.600	691.20
	91NA2448MGTL				
25	Waveworks, 23D x 28H, End Panel, Laminate	3	EA	95.600	286.80
	WW2328EPL				
26	Waveworks, 15D x 72W, Reception Counter Kit \mathtt{HPL}	1	EA	282.000	282.00
PAW					
		<u></u>	L	T	

FOB: DESTINATION FRT INCLUDED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement Services.

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.

Terms:

N 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent. 06/04/2018

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

Order Date: 05/15/2018

05 Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P890081

59

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

******4000 WORKPLACE RESOURCE 1717 W 6TH ST STE 190 AUSTIN, 78203

Ship To:

Invoice To:

PO BOX 40006

TX A&M ENGINEERING EXTEN SRVC TEEX DIGITAL PRINTING SERVICES RELLIS

TX A&M ENGINEERING EXTEN SRVC

COLLEGE STATION TX 77842

TEEX DIGITAL PRINTING SERVICES

3100 RIVERSIDE PKWY BLDG 7240 BRYAN TX 77803

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
27	WWN1572TSL Waveworks, 72W x 38H, Highback Organizer, Full Back, Laminate	2	EA	481.200	962.40
28	WW7238HBH2L Waveworks, 66W x 27H, Modesty Panel, Full,	1.	EA	106.400	106.40
•	Laminate WW6627MPL				
29	Waveworks, 72W x 27H, Modesty Panel, Full, Laminate	3	EA	111.600	334.80
	WW7227MPL				
30	Myriad, 24D \times 24W, End Table, Laminate	1	EA	466.400	466.40
	91NB2424ENL				
31	Waveworks, 30W x 27H, Pedestal Modesty Panel Full Laminate	1	EA	60.400	60.40
	WW3027MPL				
32	Waveworks, 36W x 27H, Pedestal Modesty Panel, Full Laminate	1	EA	68.400	68.40
	WW3627MPL				
33	Waveworks, 60W x 27H, Modesty Panel, Full Laminate	2	EA	98.000	196.00
	WW6027MPL				
PAW					
		1		Terms:	

FOB: DESTINATION FRT INCLUDED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement Services.

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

N 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EOUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent. 06/04/2018

Purchasing Agent for TEXAS A&M ENGINEERING EXTENSION SERVICE Phone: 979-845-4570

VENDOR

Vendor:

College Station, TX 77843-1477

PURCHASE ORDER

Page:

Order Date: 05/15/2018

06

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P890081

59

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

******4000 WORKPLACE RESOURCE 1717 W 6TH ST STE 190 AUSTIN, 78203

Invoice To:

TX A&M ENGINEERING EXTEN SRVC TEEX DIGITAL PRINTING SERVICES PO BOX 40006 COLLEGE STATION TX 77842

Ship To:

TX A&M ENGINEERING EXTEN SRVC TEEX DIGITAL PRINTING SERVICES RELLIS 3100 RIVERSIDE PKWY BLDG 7240 BRYAN TX 77803

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES \underline{PRIOR} TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	- UOM	UNIT PRICE	EXTENDED PRICE
34	Waveworks, 23D x 15W, Pedestal, Box, Box File, Undersurface, Lam	5	EA	296.400	1,482.00
	WW2315PUBBFL				
35	Waveworks, 23D x 36W, Lateral File, Undersurface, 2 drawer, Lam	1	EA	354.000	354.00
	WW2336LFM2L				
36	Waveworks, 23D x 30W, Lateral File, Undersurface, 2 drawer, LAM	4	EA	344.400	1,377.60
	WW2330LFM2L				
37	Waveworks, 17D x 36W, Double Door, Undersurface, Laminate	1	EA	308.400	308.40
	WW1736PUHL				
38	Waveworks, 36D x 72W, Surface, Ext Corner, Right, HPL	2	EA	414.400	828.80
	WW3672WSCEDRL2				
39	Waveworks, 25D x 72W, Reception Desk Shell, Accent, HPL	1	EA	868.000	868.00
	WW2572DSF3L				
40	Waveworks, 23D x 15W, Pedestal, Mobile, Box File, Cushion Top, LAM	1	EA	437.200	437.20
	WW2315PMBFCL				
PAW					

FOB: DESTINATION FRT INCLUDED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement Services

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

N 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent. 06/04/2018

Purchasing Agent for TEXAS A&M ENGINEERING EXTENSION SERVICE Phone: 979-845-4570

VENDOR

Vendor:

College Station, TX 77843-1477

PURCHASE ORDER

Page:

Order Date: 05/15/2018

07

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P890081

59

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

******4000 WORKPLACE RESOURCE

1717 W 6TH ST STE 190 78203 AUSTIN,

3100 RIVERSIDE PKWY BLDG 7240

Invoice To:

Ship To:

RELLIS

PO BOX 40006

BRYAN TX 77803

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES <u>PRIOR</u>

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

TX A&M ENGINEERING EXTEN SRVC

TEEX DIGITAL PRINTING SERVICES

TX A&M ENGINEERING EXTEN SRVC

TEEX DIGITAL PRINTING SERVICES

COLLEGE STATION TX 77842

41 Waveworks, 36D x 72W, Surface, Ext Corner Left, HPL WW3672WSEDLL2 42 Waveworks, 30D x 72W, Surface, Elliptical P, Left, HPL WW3072WSPDL2L 43 Waveworks, 24D x 72W, Surface, rectangular, HPL Ww2472WSSDL 44 Waveworks, 24D x 72W, Surface, Rectangular, HPL WW2472WSDL 45 Waveworks, 30D x 84W, Surface, Rectangular, HPL WW3084WSSDL 46 Waveworks, 24D x 42W, Surface, Rect, Vert Grain, HPL Ww2442WSSVDL 47 Waveworks, 24D x 66W, Surface, Rectangular, HPL Ww2466WSSDL 48 Waveworks, 24D x 66W, Surface, Rectangular, HPL Ww2466WSSDL 49 Waveworks, 24D x 66W, Surface, Rectangular, HPL Ww2466WSSDL	ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
42 Waveworks, 30D x 72W, Surface, Elliptical P, Left, HPL 1 EA 402.400 402.400 40 Waveworks, HPL 402.400 402.400 402.400 43 Waveworks, 24D x 72W, Surface, rectangular, HPL 1 EA 166.800 166.800 44 Waveworks, 24D x 72W, Surface, Rectangular, HPL 3 EA 166.800 500.40 45 Waveworks, 30D x 84W, Surface, Rectangular, HPL 1 EA 258.000 258.00 46 Waveworks, 24D x 42W, Surface, Rect, Vert Grain, HPL 1 EA 117.600 117.60 47 Waveworks, 24D x 66W, Surface, Rectangular, HPL 1 EA 154.80 154.80 48 Waveworks, 24D x 72W, Surface, Rectangular, 1 1 EA 178.80 178.80			1	EA	414.400	414.40
### Waveworks, 24D x 72W, Surface, Fiftpereal P. Left, HPL ### Waveworks, 24D x 72W, Surface, rectangular, HPL #### Waveworks, 24D x 72W, Surface, Rectangular, B. Left						
Waveworks, 24D x 72W, Surface, rectangular, HPL	42		1	EA	402.400	402.40
Waveworks, 24D x 72W, Surface, Rectangular, HPL WW2472WSSDL 44 Waveworks, 24D x 72W, Surface, Rectangular, HPL WW2472WSSDL 45 Waveworks, 30D x 84W, Surface, Rectangular, HPL WW3084WSSDL 46 Waveworks, 24D x 42W, Surface, Rect, Vert I EA 117.600 117.600 WW2442WSSVDL 47 Waveworks, 24D x 66W, Surface, Rectangular, HPL WW2466WSSDL 48 Waveworks, 24D x 72W, Surface, Rectangular, I EA 178.800 178.800		WW3072WSPDL2L				
44 Waveworks, 24D x 72W, Surface, Rectangular, HPL 3 EA 166.800 500.40 45 Waveworks, 30D x 84W, Surface, Rectangular, HPL 1 EA 258.000 258.00 46 Waveworks, 24D x 42W, Surface, Rect, Vert Grain, HPL 1 EA 117.600 117.60 47 Waveworks, 24D x 66W, Surface, Rectangular, HPL 1 EA 154.800 154.80 48 Waveworks, 24D x 72W, Surface, Rectangular, 1 1 EA 178.800 178.80	43		1	EA	166.800	166.80
Waveworks, 24D x 72W, Surface, Rectangular, HPL WW2472WSSDL 45 Waveworks, 30D x 84W, Surface, Rectangular, HPL WW3084WSSDL 46 Waveworks, 24D x 42W, Surface, Rect, Vert I EA 117.600 117.600 WW2442WSSVDL 47 Waveworks, 24D x 66W, Surface, Rectangular, HPL WW2466WSSDL WW2466WSSDL 48 Waveworks, 24D x 72W, Surface, Rectangular, I EA 178.800 178.800		WW2472WSSDL				
Waveworks, 30D x 84W, Surface, Rectangular, 1 EA 258.000 258.000 46 Waveworks, 24D x 42W, Surface, Rect, Vert 1 EA 117.600 117.600 117.600 47 Waveworks, 24D x 66W, Surface, Rectangular, 1 EA 154.800 154.800 154.800 48 Waveworks, 24D x 72W, Surface, Rectangular, 1 EA 178.800 178.800 178.800	44		3	EA	166.800	500.40
Waveworks, 30D x 84W, Surface, Rectangular, HPL WW3084WSSDL 46 Waveworks, 24D x 42W, Surface, Rect, Vert Grain, HPL WW2442WSSVDL 47 Waveworks, 24D x 66W, Surface, Rectangular, HPL WW2466WSSDL WW2466WSSDL Waveworks, 24D x 72W, Surface, Rectangular, 1 EA 178.800 178.80		WW2472WSSDL				
Waveworks, 24D x 42W, Surface, Rect, Vert Ww2442WSSVDL Waveworks, 24D x 66W, Surface, Rectangular, HPL Ww2466WSSDL Waveworks, 24D x 72W, Surface, Rectangular, 1 EA 117.600	45		1	EA	258.000	258.00
## Waveworks, 24D x 42W, Surface, Rect, Vert Grain, HPL ### Ww2442WSSVDL ### Waveworks, 24D x 66W, Surface, Rectangular, HPL ### Ww2466WSSDL ### Waveworks, 24D x 72W, Surface, Rectangular, 1 EA 178.800 178.800		WW3084WSSDL				
47 Waveworks, 24D x 66W, Surface, Rectangular, 1 EA 154.800 154.800 WW2466WSSDL Waveworks, 24D x 72W, Surface, Rectangular, 1 EA 178.800 178.800	46		1	EA	117.600	117.60
Waveworks, 24D x 86W, Surface, Rectangular, HPL WW2466WSSDL Waveworks, 24D x 72W, Surface, Rectangular, 1 EA 178.800 178.80		WW2442WSSVDL				
48 Waveworks, 24D x 72W, Surface, Rectangular, 1 EA 178.800 178.80	47		1	EA	154.800	154.80
48 Waveworks, 24D x /2W, Surface, Rectangular,		WW2466WSSDL				
PAW	48	Waveworks, 24D x 72W, Surface, Rectangular,	1	EA	178.800	178.80
	PAW					

FOB: DESTINATION FRT INCLUDED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

Ν 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent. 06/04/2018

Purchasing Agent for TEXAS A&M ENGINEERING EXTENSION SERVICE Phone: 979-845-4570

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

Page:

Order Date: 05/15/2018

08

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P890081

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor: *****4000 WORKPLACE RESOURCE 1717 W 6TH ST STE 190 AUSTIN, 78203

59

Invoice To:

TX A&M ENGINEERING EXTEN SRVC TEEX DIGITAL PRINTING SERVICES PO BOX 40006 COLLEGE STATION TX 77842

Ship To:

TX A&M ENGINEERING EXTEN SRVC TEEX DIGITAL PRINTING SERVICES RELLIS 3100 RIVERSIDE PKWY BLDG 7240 BRYAN TX 77803

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	HPL				
	WW2472WSSDL				
49	Waveworks, 18D x 42W, Surface, Rectangular, HPL	1	EA	114.400	114.40
	WW1842WSSDL				
50	Waveworks, 24D x 96W, Surface, Rectangular HPL	1	EA	233.600	233.60
	WW2496WSSDL				
51	Waveworks, 24D x 48W, Return, Right, File File, HPL	1	EA	493.200	493.20
	WW2448RREFL2				
52	Waveworks, 18D x 36W, Surface, Rectangular, HPL	1	EA	89.600	89.60
	WW1836WSSDL				
53	Waveworks, 24D x 36W, Surface, Rectangular, HPL	1	EA	96.400	96.40
	WW2436WSSDL				
54	Waveworks, 24D x 60W, Surface, Rectangular, HPL	2	EA	146.400	292.80
	WW2460WSSDL				
55	Waveworks, 24D x 36W, Surface, Rect, Vert Grain, HPL	1	EA	108.400	108.40
PAW				Towns	

FOB: DESTINATION FRT INCLUDED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER — If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement Services.

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered

Terms:

Ν 30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent. 06/04/2018

Purchasing Agent for TEXAS A&M ENGINEERING EXTENSION SERVICE Phone: 979-845-4570

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

Order Date: 05/15/2018

09 Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES P890081 59 VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor: *****4000 WORKPLACE RESOURCE 1717 W 6TH ST STE 190 AUSTIN, 78203

Invoice To:

TX A&M ENGINEERING EXTEN SRVC TEEX DIGITAL PRINTING SERVICES PO BOX 40006 COLLEGE STATION TX 77842

Ship To:

TX A&M ENGINEERING EXTEN SRVC TEEX DIGITAL PRINTING SERVICES RELLIS 3100 RIVERSIDE PKWY BLDG 7240 BRYAN TX 77803

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	= UNIT PRICE	EXTENDED PRICE
	WW2436WSSVDL				
56	Lateral File 36"W x 18 1/4"D x 39 7/8"H / (2) 6" & (2) 12" Drw	2	EA	489.890	979.78
	RG-C741				
57	Delivery and Installation, as per the attached terms and conditions	1	LOT	4,312.540	4,312.54
58	Composium, Sharp Seating, Club 34H x 31W x 28D	2	EA	718.900	1,437.80
	CP.AS1.SN1				
59	Focus, Side Chair, Mesh Back, Silver Frame, Al30 Arm	8	EA	203.390	1,627.12
	5652B1.A130				
60	Amplify, Highback, Mesh Back, Enhanced Synchro Cntrl, Height Adj Arms	4	EA	313.040	1,252.16
	2723Y.A141.B1				
61	Amplify, Midback, Mesh Back, Enhanced Synchro Cntrl, Height Adj Arms	1	EA	300.300	300.30
	2722Y.A141.B1				
				TOTAL	42,477.38
	VENDOR REF: FRED RODRIGUEZ PHONE: 512-472-7300				
PAW					

FOB: DESTINATION FRT INCLUDED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

30

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent. 06/04/2018

TEXAS A&M UNIVERSITY (Texas A&M)

GENERAL TERMS AND CONDITIONS FOR DELIVERY, INSTALLATION, START-UP AND TRAINING

1. GENERAL:

- 1.1 Texas A&M and the vendor are referred to throughout these terms and conditions. The vendor is the individual, firm, corporation or any combination thereof performing this installation for Texas A&M.
- 1.2 The bidder shall carefully examine these terms and conditions and secure from Texas A&M additional information, if necessary, that may be requisite to a clear and full understanding of the work.
- 1.3 All delivery, installation, start-up and training by the vendor shall be performed between the hours of 8:00 A.M. and 5:00 P.M., unless otherwise specified, or agreed upon, and only on working days observed by Texas A&M. These working days are usually Monday through Friday of each week.
- 1.4 The vendor shall be responsible for damage to Texas A&M's equipment and/or the workplace and its contents, by its work, negligence in work, and/or it's personnel equipment. The vendor shall be responsible and liable for the safety, injury and health of its working personnel while its employees are performing delivery, installation, start-up and training.
- 1.5 The vendor shall provide all labor and equipment necessary to perform delivery, installation, start-up and training. All employees of the vendor shall be no less than 17 years of age, and shall be experienced in the type of work performed. No visitors, wives, husbands or children of the vendor's employees will be allowed in the workplace during working hours, unless they are bonafide employees of the vendor.
- 1.6 The vendor shall at all times have a minimum of one (1) English speaking employee on the job and all employees shall be well-groomed and appropriately dressed at all times when on duty.
- 1.7 Texas A&M is committed to maintaining an alcohol and drug free workplace. Possession, use or being under the influence of alcohol or controlled substances by vendor's employees while in the performance of delivery, installation, start-up and training is prohibited. Violation of this requirement shall constitute grounds for termination of this purchase. In addition, vendor employees shall observe Texas A&M's smoking policy.
- 1.8 It is the intent of Texas A&M to purchase goods, equipment, and services having the least adverse environmental impact, within the constraints of statutory purchasing requirements, departmental need's, availability, and sound economical considerations. Suggested changes and environmental enhancements for possible inclusion in future revisions of these terms and conditions are encouraged.
- 1.9 All parts not specifically mentioned in the Invitation For Bid which are necessary for the system to be complete and ready for operation, or which are normally furnished as standard equipment shall be furnished by the successful bidder. All parts shall conform in strength, quality and workmanship to the accepted Standard of the Industry.
- 1.10 The system provided shall meet or exceed all Federal and State of Texas Safety, Health, Lighting, and Noise Regulations, and Standards in effect and applicable to equipment furnished at the time of manufacture.

2. ABANDONMENT OR DEFAULT:

- 2.1 A vendor who abandons or defaults the delivery, installation, start-up and training work and causes this purchase to be rebid will not be considered for future bids.
- 2.2 This purchase will be void if sold, transferred or assigned to another company without written approval from Texas A&M. Written notification of changes to company name, address, telephone number, etc. should be given to Texas A&M as soon as possible but not later than 30 days from date of change.

3. RESPONSIBILITY FOR DAMAGE CLAIMS:

3.1 The vendor agrees to indemnify and save harmless Texas A&M, its agents and employees from all suites, action or claims and from all liability and damages for any and all injuries or damages sustained by any person or property in consequence of any neglect in the performance of the delivery, installation, start-up and training by the vendor and from any claims or amounts arising or recovered under the "Workers Compensation Laws", Chapter 101, VTCA, Civil Practice and Remedies Code, or any other laws. Vendor further so indemnify and be responsible for all damages or injury from any act, omission, neglect or misconduct of the vendor, his/her agent and employees, in the manner or method of executing the work; or from failure to properly execute the work; or from defective work or materials. Vendor shall not be released from these responsibilities until all claims have been settled and suitable evidence to that effect furnished to Texas A&M.

4. APPLICABLE LAWS:

4.1 The laws of the State of Texas shall govern this purchase, delivery, installation, start-up and training.

5. COMPLIANCE WITH LAWS:

5.1 The vendor shall comply with all Federal, State and local laws, statutes, ordinances, rules and regulations, and the orders and decrees of any court or administrative bodies or tribunals in any matter affecting the performance of this delivery, installation, start-up and training including without limitation, worker's compensation laws, minimum and maximum salary and wage statutes and regulations, and licensing laws and regulations. When required, the vendor shall furnish Texas A&M with satisfactory proof of its compliance therewith.

COMPLIANCE:

- 6.1 Delivery, installation, start-up and training shall be done in accordance with industry standards and any specifications listed on the Invitation For Bid.
- 7. INSURANCE: Where the Seller is required to provide labor for work on the premises, or for the delivery setting or installation of any furniture, appliance or equipment, he and his subcontractors shall carry adequate Property Damage and Public Liability Insurance, also Workmen's Compensation and Employer's Liability Insurance in statutory amounts. Upon request, he shall furnish the Owner a certificate of compliance before starting work on the job. Amounts of insurance required shall be per schedule below:

[Vendor] shall obtain and maintain, for the duration of this Agreement or longer, the minimum insurance coverage set forth below. With the exception of Professional Liability (E&O), all coverage shall be written on an occurrence basis. All coverage shall be underwritten by companies authorized to do business in the State of Texas or eligible surplus lines insurers operating in accordance with the Texas Insurance Code and have a financial strength rating of A- or better and a financial strength rating of VII or better as measured by A.M. Best Company or otherwise acceptable to Texas A&M University. By requiring such minimum insurance, the Owner shall not be deemed or construed to have assessed the risk that may be applicable to [Vendor] under this Agreement. [Vendor] shall assess its own risks and if it deems appropriate and/or prudent, maintain higher limits and/or broader coverage. [Vendor] is not relieved of any liability or other obligations assumed pursuant to this Agreement by reason of its failure to obtain or maintain insurance in sufficient amounts, duration, or types. No policy will be canceled without unconditional written notice to Texas A&M University at least ten days before the effective date of the cancellation.

Insurance:

Coverage	Limit
A. Worker's Compensation	
Statutory Benefits (Coverage A)	Statutory
Employers Liability (Coverage B)	\$1,000,000 Each Accident
	\$1,000,000 Disease/Employee
	\$1,000,000 Disease/Policy Limit

Workers' Compensation policy must include under Item 3.A. on the information page of the workers' compensation policy the state in which work is to be performed for Texas A&M University. Workers' compensation insurance is required, and no "alternative" forms of insurance will be permitted

B. Automobile Liability

Business Auto Liability Insurance covering all owned, non-owned or hired automobiles, with limits of not less than \$1,000,000 Single Limit of liability per accident for Bodily Injury and Property Damage;

C. Commercial General Liability

Each Occurrence Limit	\$1,000,000
General Aggregate Limit	\$2,000,000
Products / Completed Operations	\$1,000,000
Personal / Advertising Injury	\$1,000,000
Damage to rented Premises	\$300,000
Medical Payments	\$5,000

The required commercial general liability policy will be issued on a form that insures [Vendor's] or its subcontractors' liability for bodily injury (including death), property damage, personal and advertising injury assumed under the terms of this Agreement.

Additional Endorsements

The Auto and Commercial General Liability Policies shall name the Texas A&M University System Board of Regents for and on behalf of The Texas A&M University System and the Texas A&M University as additional insured's.

D. [Vendor] will deliver to Texas A&M University:

Evidence of insurance on a Texas Department of Insurance approved certificate form verifying the existence and actual limits of all insurance after the execution and delivery of this Agreement and prior to the performance of any services by [Vendor] under this Agreement. Additional evidence of insurance will be provided on a Texas Department of Insurance approved certificate form verifying the continued existence of all required insurance no later than thirty (30) days after each annual insurance policy renewal.

All insurance policies, with the exception of worker's compensation and employer's liability will be endorsed and name The Board of Regents for and on behalf of The Texas A&M University System, The Texas A&M University System and Texas A&M University as Additional Insureds up to the actual liability limits of the policies maintained by [Vendor]. Commercial General Liability and Business Auto Liability will be endorsed to provide primary and non-contributory coverage. The Commercial General Liability Additional Insured endorsement will include on-going and completed operations and will be submitted with the Certificates of Insurance.

All insurance policies will be endorsed to provide a waiver of subrogation in favor of The Board of Regents of The Texas A&M University System, The Texas A&M University System and Texas A&M University. No policy will be canceled without unconditional written notice to Texas A&M University at least ten days before the effective date of the cancellation. All insurance policies will be endorsed to require the insurance carrier providing coverage to send notice to Texas A&M University ten (10) days prior to the effective date of cancellation, material change, or non-renewal relating to any insurance policy required in this section.

Any deductible or self-insured retention must be declared to and approved by Texas A&M University prior to the performance of any services by [Vendor] under this Agreement. [Vendor] is responsible to pay any deductible or self-insured retention for any loss. All deductibles and self-insured retentions will be shown on the Certificates of Insurance

Certificates of Insurance and Additional Insured Endorsements as required by this Agreement will be mailed, faxed, or emailed to the following Texas A&M University contact:

Name:

Address:

Facsimile Number: Email Address:

The insurance coverage required by this Agreement will be kept in force until all services have been fully performed and accepted by Texas A&M University in writing.





(tom	Obi	Droduct		Unit	Extende
Item		Product		Offic	LXLEITUE
Alias		SI Ergo NCPA 07-26 FLEX2-SLV	List :	\$1,521.00	\$3,042.00
1	2		seli:	\$730.08	\$1,460.16
		ALL-Flex 2 Leg, 3 stage, HT.ADJ for 36"-72" WS. Digital Keypad & ADJ feet for 24"-30" deep WS. Silver	sai.	\$730.08 Sell Discount %:	52.00
2	1	EDGE2-SLV	List :	\$641.00	\$641.00
		EDGE Dual monitor arm, weight capacity 6.5 - 17.6 lbs per arm, w/ desk	Sell :	\$307.68	\$307.68
		clamp & grommet mount. Silver		Sell Discount %:	52.00
3	3	FLEX3-SLV	List:	\$2,299.00	\$6,897.00
		ALL-Flex 3 Leg, 3 stage, HT.ADJ for 36"-72" WS. Digital Keypad & ADJ feet	Sell ;	\$1,103.52	\$3,310.56
		for 24"-30" deep WS. Silver		Sell Discount %:	52.00
4	4	PD0011-NFR-NLD	List :	\$220.00	\$880.00
•		SpaceCo Pelican 1 Drawer Black	Sell :	\$0.00	\$0.00
		Spaces / Shear 2 Drawer Stask		Sell Discount %:	100.00
		Subtotal		List :	\$11,460.00
				Sell :	\$5,078.40
Alias		lational NIPA P15-150			
5	8	FSMM2	List :	\$870.00	\$6,960.00
		Cramer Fusion Mid Stool Armless 2 way Adj Mechanism	Sell :	\$418.19	\$3,345.52
				Sell Discount %:	51.93
6	3	RSDG1	List :	\$713.00	\$2,139.00
		Cramer Fusion Round Stool - Foot Activated Hgt.Adjustment	Sell:	\$342.73	\$1,028.19
				Sell Discount %:	51.93
7	1	N32SMLLM	List :	\$3,181.67	\$3,181.67
		RENO, SLIM 3 SEAT LOUNGE, ARMLESS, METAL LEGS	Sell:	\$1,272.67	\$1,272.67
				Sell Discount %;	60.00
8	2	N32AAM	List:	\$2,133.13	\$4,266.26
_		RENO,1 SEAT LOUNGE,METAL LEGS	Sell ;	\$853.25	\$1,706.50
				Sell Discount %:	60.00
9	1	26N1228DVOBS	List :	\$366.00	\$366.00
•		EPICENTER,12WX28H,SUPPORT BASE,PLATINUM METALLIC	Sell :	\$146.40	\$146.40
		2, 152, 112, 17, 12, 17, 15, 15, 15, 15, 15, 15, 15, 15, 15, 15		Sell Discount %:	60.00
10	16	11NBRS	List :	\$12.00	\$192.00
		EXHIBIT, MOUNTING BRACKET	Sell :	\$4.80	\$76.80
		·		Sell Discount %:	60.00
11	3	11N144EXFP2	List:	\$365.00	\$1,095.00
		EXHIBIT,144W EXTRUSION W/FACEPLATE,SET OF 2	Sell ;	\$146.00	\$438.00
				Sell Discount %:	60.00
12	2	11N72EXFP2	List :	\$255.00	\$510.00



		ESI Ergonomics 07-26			
Item	Qty.	Product		Unit	Extended
		EXHIBIT,72W EXTRUSION W/FACEPLATE,SET OF 2	Sell ;	\$102.00	\$204.00
				Sell Discount %;	60.00
13	1	NAC4812MPA	List :	\$482.00	\$482.00
		ACCESSORIES,48WX12H,MODESTY PANEL,RESIN	Sell;	\$192.80	\$192.80
		·		Sell Discount %:	60.00
14	3	NAC6919TBRA	List :	\$438.00	\$1,314.00
1.	•	ACCESSORIES,68 15/16WX 19 1/16H,TACKBOARD,RAILROAD	Sell ;	\$175.20	\$525.60
		ACCESSORIES/00 15/ 10WATS 1/ 10H, FACKBOARD, MAILROAD	<i>S.</i> ,	Sell Discount %;	60.00
4.5	~	WWW.D.D.D.D.D.G.			
15	3	WW233029PUOSL	List:	\$667.00	\$2,001.00
		WAVEWORKS,23DX30WX29H,PEDESTAL,BOOKCASE,UNDERSURFACE,LAM	Sell :	\$266.80	\$800.40
				Sell Discount %;	60.00
16	1		List:	\$2,807.00	\$2,807.00
		WAVEWORKS,72WX38H,HIGHBACK ORGANIZER,FULL BACK,GLASS/LAM	Sell :	\$1,122.80	\$1,122.80
				Sell Discount %:	60.00
17	6	11N4836TB	List :	\$299.00	\$1,794.00
		EXHIBIT,48WX36H TACK BOARD	Sell :	\$119.60	\$717.60
				Sell Discount %:	60.00
18	1	WW1728EPL	List :	\$222.00	\$222.00
		WAVEWORKS,17DX28H,END PANEL,LAMINATE	Sell :	\$88.80	\$88.80
				Sell Discount %:	60.00
19	1	WW1868VSWHRGL	List :	\$1,978.00	\$1,978.00
13	•	WAVEWORKS,18WX68H,WARDROBE/STORAGE,RIGHT,GLASS/LAMINATE	Sell :	\$791.20	\$791.20
		WWW EWORKS, 15W/KOSH, WAKISKODE, STOKAGE, KTGHT, GLASS, EAPHINATE	our.	Sell Discount %:	60.00
	_				
20	2	WW4818SOHTGL	List :	\$1,101.00	\$2,202.00
		WAVEWORKS,48WX18H,STORAGE OVERHEAD,EXHIBIT MOUNT,GLASS/LAM	Sell :	\$440.40	\$880.80
				Sell Discount %;	60.00
21	1	91NA2424CYL	List :	\$627.00	\$627.00
		MYRIAD,24DX24W,END TABLE,CYLINDER,ROUND,LAMINATE	Sell ;	\$250.80	\$250.80
				Sell Discount %:	60.00
22	2	NAC6012MPA	List:	\$896.00	\$1,792.00
		ACCESSORIES,60WX12H,MODESTY PANEL,RESIN	Sell ;	\$358.40	\$716.80
				Sell Discount %:	60.00
23	4	11N3636TB	List :	\$282.00	\$1,128.00
		EXHIBIT,36WX36H TACK BOARD	Sell :	\$112.80	\$451.20
		•		Sell Discount %:	60.00
24	2	91NA2448MGTL	List :	\$864.00	\$1,728.00
4 T	_	MYRIAD,24DX48W,MAGAZINE TABLE,CUBE,RECTANGLE,LAMINATE	sell ;	\$345.60	\$691.20
		THE TOTAL TOWN IN THE PROPERTY OF THE PROPERTY	SAI ,	\$343.00 Sell Discount %:	60.00
				5 5.1 5.1500 unit 70.	50.00



	- .	ESI Elgonomics 07-20			
Item	Qty.	Product		Unit	Extended
25	3	WW2328EPL	List :	\$239.00	\$717.00
		WAVEWORKS,23DX28H,END PANEL,LAMINATE	Sell ;	\$95.60	\$286.80
				Sell Discount %:	60.00
26	1	WWN1572TSL	List :	\$705.00	\$705.00
	_	WAVEWORKS,15DX72W,RECEPTION COUNTER KIT,HPL	Sell :	\$282.00	\$282.00
		THE TOTAL OF THE TOTAL OF THE		Sell Discount %:	60.00
27	2	WW7238HBH2L	List :	\$1,203.00	\$2,406.00
		WAVEWORKS,72WX38H,HIGHBACK ORGANIZER,FULL BACK,LAMINATE	Sell ;	\$481.20	\$962,40
				Sell Discount %;	60.00
28	1	WW6627MPL	List :	\$266.00	\$266.00
		WAVEWORKS,66WX27H,MODESTY PANEL,FULL,LAMINATE	Sell :	\$106.40	\$106.40
				Sell Discount %:	60.00
29	3	WW7227MPL	List:	\$279.00	\$837.00
		WAVEWORKS,72WX27H,MODESTY PANEL,FULL,LAMINATE	Sell :	\$111.60	\$334.80
				Sell Discount %:	60.00
30	1	91NB2424ENL	List :	\$1,166.00	\$1,166.00
		MYRIAD,24DX24W,END TABLE,LAMINATE	Sell :	\$466.40	\$466.40
				Sell Discount %:	60.00
31	1	WW3027MPL	List :	\$151.00	\$151.00
		WAVEWORKS,30WX27H,PEDESTAL MODESTY PANEL,FULL,LAMINATE	Sell :	\$60.40	\$60.40
				Sell Discount %:	60.00
32	1	WW3627MPL	List :	\$171.00	\$171.00
		WAVEWORKS,36WX27H,PEDESTAL MODESTY PANEL,FULL,LAMINATE	Sell:	\$68.40	\$68.40
				Sell Discount %:	60.00
33	2	WW6027MPL	List:	\$245.00	\$490.00
		WAVEWORKS,60WX27H,MODESTY PANEL,FULL,LAMINATE	Sell:	\$98.00	\$196.00
				Sell Discount %:	60.00
34	5	WW2315PUBBFL	List :	\$741.00	\$3,705.00
		WAVEWORKS,23DX15W,PEDESTAL,BOX/BOX/FILE,UNDERSURFACE,LAM	Sell :	\$296.40	\$1,482.00
				Sell Discount %:	60.00
35	1	WW2336LFM2L	List ;	\$885.00	\$885.00
		WAVEWORKS,23DX36W,LATERAL FILE,UNDERSURFACE,2 DRAWER,LAM	Sell :	\$354.00	\$354.00
				Sell Discount %:	60.00
36	4	WW2330LFM2L	List :	\$861.00	\$3,444.00
		WAVEWORKS,23DX30W,LATERAL FILE,UNDERSURFACE,2 DRAWER,LAM	Sell :	\$344.40	\$1,377.60
				Sell Discount %:	60.00
37	1	WW1736PUHL	List :	\$771.00	\$771.00



Item	Qty.	Product		Unit	Extended
		WAVEWORKS,17DX36W,DOUBLE DOOR,UNDERSURFACE,LAMINATE	Sell ;	\$308.40	\$308.40
				Sell Discount %:	60.00
38	2	WW3672WSCEDRL2	List :	\$1,036.00	\$2,072.00
		WAVEWORKS,36DX72W,SURFACE,EXT CORNER,RIGHT,HPL	Sell :	\$414.40	\$828.80
				Sell Discount %:	60.00
39	1	WW2572DSTF3L	List:	\$2,170.00	\$2,170.00
		WAVEWORKS,25DX72W,RECEPTION DESK SHELL,ACCENT,HPL	Sell :	\$868.00	\$868.00
				Sell Discount %:	60.00
40	1	WW2315PMBFCL	List :	\$1,093.00	\$1,093.00
		WAVEWORKS,23DX15W,PEDESTAL,MOBILE,BOX/FILE,CUSHION TOP,LAM	Sell ;	\$437.20	\$437.20
				Sell Discount %:	60.00
41	1	WW3672WSCEDLL2	List:	\$1,036.00	\$1,036.00
		WAVEWORKS,36DX72W,SURFACE,EXT CORNER,LEFT,HPL	Sell :	\$414.40	\$414.40
				Sell Discount %:	60.00
42	1	WW3072WSPDL2L	List :	\$1,006.00	\$1,006.00
		WAVEWORKS,30DX72W,SURFACE,ELLIPTICAL P,LEFT,HPL	Sell :	\$402.40	\$402.40
				Sell Discount %:	60.00
43	1	WW2472WSSDL	List :	\$417.00	\$417.00
		WAVEWORKS,24DX72W,SURFACE,RECTANGULAR,HPL	Sell :	\$166.80	\$166.80
				Sell Discount %:	60.00
44	3	WW2472WSSDL	List:	\$417.00	\$1,251.00
		WAVEWORKS,24DX72W,SURFACE,RECTANGULAR,HPL	Sell :	\$166.80	\$500.40
				Sell Discount %;	60.00
45	1	WW3084WSSDL	List:	\$645.00	\$645.00
		WAVEWORKS,30DX84W,SURFACE,RECTANGULAR,HPL	Sell :	\$258.00	\$258.00
				Sell Discount %:	60.00
46	1	WW2442WSSVDL	List:	\$294.00	\$294.00
		WAVEWORKS,24DX42W,SURFACE,RECT,VERT GRAIN,HPL	Sell ;	\$117.60	\$117.60
				Sell Discount %;	60.00
47	1	WW2466WSSDL	List :	\$387.00	\$387.00
		WAVEWORKS,24DX66W,SURFACE,RECTANGULAR,HPL	Sell;	\$154.80	\$154.80
				Sell Discount %:	60.00
48	1	WW2472WSSDL	List :	\$447.00	\$447.00
		WAVEWORKS,24DX72W,SURFACE,RECTANGULAR,HPL	Sell :	\$178.80	\$178.80
				Sell Discount %:	60.00
49	1	WW1842WSSDL	List:	\$286.00	\$286.00
		WAVEWORKS,18DX42W,SURFACE,RECTANGULAR,HPL	Sell ;	\$114.40	\$114.40
				Sell Discount %:	60.00





		ESI Ergonomics 07-26			
Item	Qty.	Product		Unit	Extended
50	1	WW2496WSSDL	List :	\$584.00	\$584.00
		WAVEWORKS,24DX96W,SURFACE,RECTANGULAR,HPL	Sell;	\$233.60	\$233.60
				Sell Discount %:	60.00
51	1	WW2448RREFL2	List:	\$1,233.00	\$1,233.00
		WAVEWORKS,24DX48W,RETURN,RIGHT,FILE/FILE,HPL	Sell :	\$493,20	\$493.20
				Sell Discount %:	60.00
52	1	WW1836WSSDL	List :	\$224.00	\$224.00
		WAVEWORKS,18DX36W,SURFACE,RECTANGULAR,HPL	Sell:	\$89.60	\$89.60
				Sell Discount %:	60.00
53	1	WW2436WSSDL	List :	\$241.00	\$241.00
		WAVEWORKS,24DX36W,SURFACE,RECTANGULAR,HPL	Sell :	\$96.40	\$96.40
		1777 Z 17 18 17 18 27 18 27 18 27 18 28 28 28 28 28 28 28 28 28 28 28 28 28		Sell Discount %:	60.00
54	2	WW2460WSSDL	List :	\$366.00	\$732.00
		WAVEWORKS,24DX60W,SURFACE,RECTANGULAR,HPL	Sell :	\$146.40	\$292.80
		,		Sell Discount %:	60.00
55	1	WW2436WSSVDL	List :	\$271.00	\$271.00
		WAVEWORKS,24DX36W,SURFACE,RECT,VERT GRAIN,HPL	Sell:	\$108.40	\$108.40
				Sell Discount %:	60.00
56	2	RG-C741	List :	\$1,437.00	\$2,874.00
		Lateral File 36"Wx18 1/4"Dx39 7/8""H W/ (2) 6" & (2) 12" Drw	Sell:	\$489.89	\$979.78
				Sell Discount %:	65.91
57	1	x D&I	List:	\$0.00	\$0.00
		X Delivery & Installation	Sell:	\$4,312.54	\$4,312.54
		·		Sell Discount %:	0.00
		Subtotal:			\$69,761.93
		Subtotu.		Sell :	\$32,781.60
Alias	1: S	itOnIt NIPA 2015000063			
58		CP.AS1.SN1	List :	\$1,580.00	\$3,160.00
	-	COMPOSIUM, SHARP SEATING, CLUB 34H X 31W X 28D	Sell :	\$718.90	\$1,437.80
				Sell Discount %:	54.50
59	8	5652B1.A130	List :	\$447.00	\$3,576.00
•	_	Focus, Side Chair, Mesh Back, Silver Frame, A130 Arm	Sell :	\$203.39	\$1,627.12
				Sell Discount %:	54.50
60	4	2723Y.A141.B1	List ;	\$688.00	\$2,752.00
-		Amplify, Highback, Mesh Back, Enhanced Synchro Cntrl, Height Adj Arms	Sell :	\$313.04	\$1,252.16
				Sell Discount %:	54.50
61	1	2722Y.A141.B1	List :	\$660.00	\$660.00
•					

Date: 4/3/2018



Item	Qty.	Product		Unit	Extended
-		Amplify, Midback, Mesh Back, Enhanced Synchro Cntrl, Height Adj Arms	Sell ;	\$300.30	\$300.30
				Sell Discount %:	54.50
		Subtotal:		List ;	\$10,148.00
				Sell ;	\$4,617.38
		Total:		List :	\$91,369.93
				Sell ;	\$42,477.38



Texas A&M Engineering Extension Service

Supplier Self-Certification Form

As a government contractor, TEEX is required to capture, and collectively report, this data for all operational expenditures. This information is used for the TEEX Federal Supplier Diversity Program goals only.

This section is to be completed by the TEEX buyer, according to the principal purpose of the procurement.
Procurement Reference #(s):
NAICS* Code: 337214 (six digit code, assigned by the buyer) (cannot begin with 42, 44, or 45)
SBA Size Standard: 1000 employees(for the assigned NAICS Code) (This is the largest size that a business may be (including its subsidiaries and affiliates) to remain classified as a small business)
(This is the largest size that a business may be (including its subsidiaries and affiliates) to remain classified as a small business) *This number represents the North American Industry Classification System code for small and diverse business visibility purposes only.
For guidance, please go to the NAICS/Size Standards Tool at: http://www.sba.gov/tools/size-standards-tool?ms=fp
Supplier: Please complete the information below.
1) Please use the SBA Size Standard above to self-certify supplier size for the assigned NAICS code:
Small Other Than Small (Includes Large, Non- profit, Foreign, and Govt. entities)
2) TEEX has goals for each of the federal categories listed below.
Please check ALL categories that apply:
Small Disadvantaged Business Supplier
Woman Owned Supplier
Veteran Owned Supplier
Service Disabled Veteran Owned Supplier
Certified by SBA as a HUBZone Small Business
Historically Black College/University (HBCU) or Minority Institution (MI)
Alaskan Native Corporation (ANC)
Indian Tribe
Other: Specify
supplier Name:
Address:City/St/Zip
Contact Person:Phone #:
-mail:
(Signature of a Company Official/Owner) (Title) (Date)

You may wish to review the definitions for the above categories in the Federal Acquisition Regulation (FAR) 19.7 or 52.219-8. If you have difficulty ascertaining your size status, please refer to SBA's website at www.sba.gov/size or contact your local Small Business office.

Under 15 U.S.C. 645 (d), any person who misrepresents its size status shall (1) be punished by a fine, imprisonment, or both; 2) be subject to administrative remedies; and (3) be ineligible for participation in programs conducted under the authority of the Small Business Act.

For questions regarding this form: Terri.Sager@teex.tamu.edu 979-458-6849 / Fax #: 979-458-6838